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CORRIGÉ DE L’EXERCICE



TITRE

CORRECTION

CALCUL DE 1 + 2 + 3 + . . . + n

DÉMONSTRATION

Posons S = 1 + 2 + 3 + . . . + ( n - 2 ) + ( n - 1 ) + n  ( 1 ).

Nous pouvons aussi écrire:  S = n + ( n - 1 ) + ( n - 2 ) + . . . + 3 + 2 + 1  ( 2 ).

En additionnant membre à membre les égalités ( 1 ) et ( 2 ), nous obtenons:

S + S = [ 1 + n ] + [ 2 + ( n - 1 ) ] + [ 3 + ( n - 2 ) ] + . . . �+ [ ( n - 2 ) + 3 ]  
+ [ ( n - 1 ) + 2 ] + [ n + 1 ]

	 = [ 1 + n ] + [ 1 + n ] + [ 1 + n ] + . . . + [ 1 + n ] + [ 1 + n ] + [ 1 + n ].

n fois 

Ainsi:  S + S = n x ( 1 + n ) = n x ( n + 1 ).

D’où:  2 x S = n x ( n + 1 )   cad   S = n ( n + 1 )
2
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